Efficiency vs P,

T
=
N

eficiency vs p
=

0.8---

0.6~

0.4

........................................

Ratio

=
iN

fake+duplicates vs P,

T

0.8

0.6

0.4

Take+dauplicates rate vs p

0.2

Pt FECEREPEREEPD REPEEEEE - -

...............................................

Ratio
-
U'|I

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew6_step?2_tthar-phasel-newgeom

= 0.
2
20.09
2
50.08
o
£0.07
[}
0.06
0.05
0.04
0.03
0.02
0.01
o)

Ratio
=

0.8
0.6

|
w

Ratio

= 05

o 2
2 0a
NG

0.35

©
w

0.25

fake+duplicates rate vs

o
[N

0.15
0.1
0.05

............................

1.4
1.2

Ratio

=

0.8

QT

Ratio




	Contents
	Page 1


